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Class - IX
MATHEMATICS

Time : 3 to 3Y2 hours Maximum Marks :
YT : 39 31, T Afreram o :

Total No. of Pages :
% J3] hl A :

General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

Question numbers 1 to 10 carry 1 mark each.
(6 + «/ﬁ) - (3 + \/g) + (1 - 2\/5) when simplified is :

(A) positive and irrational (B) negative and rational
(C) positive and rational (D) negative and irrational

Two rational numbers between % and 4/ are :

5
(A) 1and % (B) % and % Q) % and % (D) % and %

Which of the following is a polynomial in x ?

1

(A) x+ < (B) % + Jx (©) x+v2x*+1 (D) Bx +1

The remainder when x2+2x+1 is divided by (x+1) is
(A) 4 (B) 0 © 1

In fig. 1, AOB is a straight line, the value of x is :

90°
30° 2x
A O

Fig. 1
(A) 60° (B) 30°

In fig. 2, lines I;||I,. The value of x is :

(A) 70°
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In fig. 3, AABD=AACD, AB=AC. Name the criteria by which the triangles are congruent :

B

2
<

Fig.3

(A) SSS (B) RHS (C) SAS

In AABC, ZA = 4% = 4%. Then the measure of £ A is :
(A) 60° (B) 30° (C) 40° (D) 20°

The number of line segments determined by three given non-collinear points is :
(A) two (B) three (C) infinitely many (D) four

In fig. 4, the value of x is :

Fig. 4
(A) 120° (B) 110° (C) 80°

SECTION - B

Question numbers 11 to 18 carry 2 marks each.

5

AL

Simplify :
P 27%

Express 1.143 in the form P q where p and q are integers, q=0.
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Check whether (x+1) is a factor of x3+x+x2+1.

Two complementary angles are in the ratio 2 : 3, find the angles.

In fig. 5, OQ bisects £ AOB. OP is a ray opposite to ray OQ. Prove that £ POA= ZPOB.

OR
In fig. 6, ZAOC and ZBOC form a linear pair. If a—b=280° find the values of a and b.

Fig. 6

16. In fig. 7, the diagonal AC of quadrilateral ABCD bisects £ BAD and ZBCD prove that
BC=CD.
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In fig. 8, ABCD is a square and P is the midpoint of AD. BP and CP are joined. Prove that
£PCB= £ PBC.

A B

Fig. 8

The perpendicular distance of a point from the x-axis is 2 units and the perpendicular distance
from the y-axis is 5 units. Write the co-ordinates of such a point if it lies in the :

(i) I Quadrant (i) II Quadrant
(iii) III Quadrant (iv) IV Quadrant

SECTION - C

Question numbers 19 to 28 carry 3 marks each.

Represent J10 on the number line.

Simplify the following by rationalising the denominators

12
2+43 B3-V5 2-5

+5

—— gijven that /5 =2.236.
3-45 & V5

Evaluate :

OR

f3+¥8 3-V8 5 findaandb.
3-8 3+48

Factorise : (2x—y—2)3+(2y—z—x)3+ (2z—x—y)>.
OR
If a=3+Db, prove that a3—b3—9ab=27.

If a+b=11, a2+b2=61, find a®+b>.
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In fig. 9, in AABC, D is any point in the interior of AABC such that £~ DBC= ZDCB and
AB=AC. Prove that AD bisects £ BAC.

A

Fig. 9

OR

Prove that the sum of the angles of a triangle is 180°.

In AABC, AC > AB and AD is the bisector of £ A. Show that £~ ADC > ~Z ADB.

The sides of a triangular park are 8m, 10m and 6m respectively. A small circular area of
diameter 2m is to be left out and the remaining area is to be used for growing roses. How
much area is used for growing roses ? (use w=23.14)

In fig. 10, I;||I; and a,||a,. Find the value of x.

Mark the points (0, 2) (3, 0) (=3, 0) and (0, —2) on a graph. Join these points. Name the
figure obtained and find the area of the figure so obtained.
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SECTION - D
Question numbers 29 to 34 carry 4 marks each.

The polynomials p(x)=ax3+4x2+3x—4 and q(x) =x>—4x+a leave the same remainder
when divided by x—3. Find the remainder when p(x) is divided by (x —2).

Factorise : 2x3—3x2—17x +30.
In fig. 11, PQ=QR and Zx = Zy. Prove that AR=PB.

Fig. 11
OR
In fig. 12, in AABC, BE is the bisector of ZABC and CE is the bisector of exterior ZACD.

Prove that ZBEC = %LA.

A E

>

C D
Fig. 12

If both (x+2) and (2x+1) are factors of ax?+2x+b, prove that a—b=0.
OR

Simplify by factorisation method : 6 — 242 x — x? / 2— x%.
If AD is the median of AABC, prove that AB+ AC > 2AD.

In fig. 13, PQ and RS are perpendicular to QS, QA =BS and PB=AR. Prove that

ZQPB= /SRA.
P R
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3Tfd 3 #, AABD=AACD AB=AC | 38 fram &1 W fafen fowd < By wafmm ¢
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1.143 = % ¥ w9 H = HIY, SRl p, q O & 997 q 0.

ST HIT 5 &7 (x + 1), TGIE 23 + x + 22 + 1 FT TOHGEE € AT Tl 2
T U HIV2:3%H ST H &1 3 HIVI ! [ HITST |

strwfa 5 ®, 0Q, £ AOB &1 HHfguS® § 1 OP a1 OQ fauwda fwxm &1 fog wifvw f&
/POA= /POB.

B
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Jgar
3Mpfa 6§, £ AOC TN ~ BOC T & 79 o1 & | afg a—b=280°, @l a T b % HM Jd HIfT |
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apfa 7 ®, =qdst ABCD @1 fa&vt AC, ~ BAD 92 ~ BCD %! HHfgIfod a1 81 fag wifse fa
BC =CD.

D

spfa-7 B
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a8 §, ABCD U &7 € 991 P, Y=l AD %1 B4 fag ¥ 1 BP 9 CP &1 foetmn 7o € fag #ifsu
f® ~PCB= #«PBC.
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Ifea+b=11, a2+ b2=61 T, a1 a3+b3 I HITST |

3Tfd 9 T AABC ¥, I & o< U fog D 39 &R feord § fF £~ DBC= £ DCB @2 AB=AC
?1 fag =S fF AD, £ BAC =1 FHfgfora &t B
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AABC ®, AC > AB T @ £ A 1 GHfgHSI® AD & €1 €9ise ff ~ ADC > ~ ADB.
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Qg ‘T’
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R
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3rere
3MHfd 12 ®1 AABC H, £ ABC 1 GHfg9SI BE ® 91 CE, 9@l 19 ACD &1 GHfg9N g1 fag
FHifte oo - LBEC=%4A.
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33. afg AD, AABC &! Aifeareht 8, @ fag #ifsg fF AB+ AC > 2AD.

34. 3MHA13 ¥, PQAAMRSTHI QS R o §, QA =BSTAMPB= ART | fag wifsw fF £ QPB= ZSRA.

P R
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